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INSTRUCTIONS TO CANDIDATES

This booklet contains all the tests required for Classics, in this order:

1 Latin Unseen Translation
2 Greek Unseen Translation
3  Classics Language Aptitude Test (CLAT)

Time allowed
You have one hour (60 minutes) per test.

If you need to take two or three tests, you should complete them in the order in which they appear in
the booklet (the same order as they are listed above).

Your supervisor will notify you when you should begin the second test and/or third tests, if
applicable.

Question papers

The Latin and Greek translation test papers each contain two passages. Please write your
translations on the answer sheets provided. You must use a black pen.

The Classics Language Aptitude Test (CLAT) is six pages long. Please write your answers in the
spaces provided. You must use a black pen.

After you have finished, the whole booklet should be returned. Do not attempt any tests not
required for your course; no extra credit can be gained.

If you are studying Latin or Greek to A-level or equivalent school-leaving qualification you should
take the test(s) in the language(s) you are studying. If you are unsure which test(s) you should be
taking your supervisor can advise you.

You can use the blank pages in the booklet or separate paper for rough workings or notes, but only
answers in the spaces in the papers will be marked. If you make a mistake and need to start again
on one of the translation passages, use a separate sheet and ensure that the requested candidate
information is written at the top.

No dictionaries of any kind are permitted.

In the box at the top of each answer sheet, you should fill in (1) your UCAS Personal ID, (2) your
name, (3) the Oxford college you chose or were allocated and (4) your date of birth. For the Classics
Language Aptitude Test (CLAT) you should also state your first language (mother tongue). Your
supervisor will also have a record of your UCAS Personal ID if you do not have it.

(o, Administered on behalf of the University of Oxford by
Admissions the Admissions Testing Service, part of Cambridge

. . Assessment, a non-teaching department of the University of
Testing Service cambridge.




Latin Unseen Translation

Time allowed: 1 hour

Translate both passages into English

1. Latin Verse

Please write your Latin Verse translation on the facing sheet.

Tibullus contemplates military service, but knows that he will always return to his

beloved.

castra peto, ualeatque Venus ualeantque puellae:

et mihi sunt uires et mihi laeta tuba est.

magna loquor, sed magnifice mihi magna locuto

excutiunt clausae fortia uerba fores.

iuraui quotiens rediturum ad limina numquam!

cum bene iuraui, pes tamen ipse redit.

acer Amor, fractas utinam, tua tela, sagittas,
si licet, extinctas aspiciamque faces!

tu miserum torques, tu me mihi dira precari
cogis et insana mente nefanda loqui.

iam mala finissem leto, sed credula uitam

spes fouet et fore cras semper ait melius.

excutio excutere: drive away

utinam: if only...! (introducing a wish)
torqueo torquere: torture

precor precari: pray for

fore = futurum esse

Tibullus 2.6.9-20



Latin Verse

Answer sheet

Oxford college of preference

UCAS Personal ID

Surname & first name(s)

Date of birth

Please continue on the reverse of this page if necessary.




Please continue to Latin Prose passage.
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2. Latin Prose

Please write your Latin Prose translation on the facing sheet.

Seneca encourages Lucilius to practice what he preaches.

Haec in animo voluta, quae saepe audisti, saepe dixisti; sed an vere audieris, an vere
dixeris, effectu proba; hoc enim turpissimum est quod nobis obici solet, verba nos
philosophiae, non opera tractare. Quid? tu nunc primum tibi mortem imminere scisti, nunc
exilium, nunc dolorem? in haec natus es; quidquid fieri potest quasi futurum cogitemus.
Quod facere te moneo scio certe fecisse: nunc admoneo ut animum tuum non mergas in
istam sollicitudinem; hebetabitur enim et minus habebit vigoris cum exsurgendum erit.

Abduc illum a privata causa ad publicam; dic mortale tibi et fragile corpusculum esse.

Seneca Epistulae Morales 24.15-16

effectu proba: transl. ‘prove by putting into action’
hebeto hebetare: make blunt

abduc illum: transl. ‘lead it (sc. your mind) away from’



Latin Prose

Answer sheet

Oxford college of preference

UCAS Personal ID

Surname & first name(s)

Date of birth

Please continue on the reverse of this page if necessary.




End of Latin Unseen Translation paper



This page is intentionally left blank for your rough working or notes.



Greek Unseen Translation

Time allowed: 1 hour

Translate both passages into English

1. Greek Verse
Please write your Greek Verse translation on the facing sheet.

Helen concocts an escape plan for Menelaus: to fake his own death and so trick a
hostile king.

‘EAévn ... GALG Tiva uYTV PevEovueda
nediwv dnelpot BapPdpov T dvteg xBovog;

Mevedémg  advvatov eimac. eépe, T8, el kpPOeic douolg
KTavoly” dvakta tdde d10Tou® Elpet;

‘EAévn 00K &V G~ AvAoYOolT 0VOE GLYNOELEV AV
HUEALOVT™ AOEAPT] GUYYOVOV KOTOKTEVELV.

Mevedémg  GAL 008E prv vadg E6Tv 7| 60eipey v
pevyovteg: v yap elyopev Baiaco’ Eyxet.

‘EAévn dicovcov, NV TL kol Yovi AEEN GoEOV.
BooAn AéyecBat, un Bavov, AOY® Bavely;

Mevedéwg  KaxkOc peEv Opvig: €l 8€ Kepdavd, AEYEV
Erouog el pun Bavarv Aoy Baveiv.

Euripides Helen 1041-52

adeAon: i.e. Theonoe, sister of king Theoclymenus




Greek Verse

Answer sheet

Oxford college of preference

UCAS Personal ID

Surname & first name(s)

Date of birth

Please continue on the reverse of this page if necessary.




Please continue to Greek Prose passage.
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2. Greek Prose

Please write your Greek Prose translation on the facing sheet.

Greek soldiers abroad discuss sailing back to Greece

€Kk 0¢ TouToL ELVELDGVTEG EBoVAgVOVTO TTEPT TG Ao TopEing: AvESTN O TPMTOG
Aéov @ovprog kol EheEev OSe. Yo pév totvov, Een, ® vdpec, dmeipnia §on
Euokevalopevog kai Badilwv kal Tpéymv Kol ta dmAa PEpmV Kol &V TAEEL DV Kal
QLAOKOC PLUAATTOV Kol LoyOUEVOG, EMOVU® OE 1|01 TOVCAUEVOS TOVTWV TRV TOVOV,
émel Oahattay Eyouev, mAETV TO Aoutov Kol Ektabeic donep Odvooels apikéshar gig
v EALGSa. Tadta dkovoavteg ol otpatidtar dveopvpnooy dg €0 Aéyet: koi GALOG
tadt’ Eleye, Kol mavieg ol mapiovieg. Enerta 8¢ Xepicopog dvéotn kai imev MIe.
@ihog poi éotv, O Gvdpec, Ava&ipiog, vovapy®dv & kai Tuyyaver. fiv oV TEUYNTE e,

ofopon av EABETV kal Tppelg Exmv kol TAola Ta Mg dEovra.

Xenophon Anabasis 5.1.2-4

®ovplog —a —ov: from Thurioi, a native of Thurioi
ameipnka (< dneimov): transl. ‘1 am worn out, | give up’

€xteivm: stretch out, make prostrate



Greek Prose

Answer sheet

Oxford college of preference

UCAS Personal ID

Surname & first name(s)

Date of birth

Please continue on the reverse of this page if necessary.




End of Greek Unseen Translation paper



Classics Language Aptitude Test (CLAT) | Oxford college of preference

Time allowed: 1 hour
Attempt all three sections; but do not spend too much time on any -
question with which you may have difficulties. Write your answers in the | First language (mother tongue):
spaces provided on the paper. (You may, if you wish, also write your
rough work on the paper.) Please write clearly!

UCAS Personal ID: Surname & first name(s): Date of Birth:

Section A [25 marks]

(1) Consider the following forms of nouns in Albanian;(sh is a single sound just like in ‘English’, and y is a
sound like in French lune or German diinn):

qytet ‘a town’ qyteti ‘the town’ nxénes ‘a pupil’ nxénesi ‘the pupil’
shok ‘a friend’ shoku ‘the friend’ gur ‘a stone’ guri ‘the stone’
helm ‘a poison’ helmi ‘the poison’ mjek ‘a doctor’ mjeku ‘the doctor’
Zojé ‘a woman’ zoja ‘the woman’ nané ‘a mother’ nana ‘the mother’
krah ‘an arm’ krahu ‘the arm’ burré ‘a husband burri ‘the husband’
arsye ‘areason’ arsyja ‘the reason’ dash ‘a ram’ dashi ‘the ram’

Now give the forms meaning ‘the x’ for the following forms (1 mark each):

mik ‘a friend’

laps ‘a pencil’

djalé ‘a boy’

zile ‘a bell’

pleh ‘garbage’

vesh ‘an ear’

hallé ‘an aunt’

ujk ‘a wolf’

dém ‘damage’

banane ‘a banana’




(2) Gothic is extinct; it was a Germanic language spoken in Eastern Europe and is attested in a Bible
translation made some time in the 4™ century A.D. (the letter p represents a sound like English ‘thin’). Nouns
in Gothic change their ending depending on their function in the sentence; the labels in the left hand column
are the conventional names for these endings. Study the following singular forms of nouns

Meaning ‘day’ | ‘loaf ‘army’ | ‘son’ ‘rooster’ | ‘friend’
Nominative | dags hlaifs harjis sunus hana frijonds
Accusative | dag hlaif hari sunu hanan frijond
Genitive dagis | hlaibis | harjis sunaus | hanins frijondis
Dative daga | hlaiba | harja sunau hanin frijond

Below you will find various forms; none of them are nominative. Give the corresponding nominatives:

nasjand ‘saviour’

asta ‘branch’

fotau ‘foot’

Now complete the sets of forms of the following words:

Meaning ‘father’ ‘kinsman’ ‘leaf’ ‘baptist’
Nominative | atta

Accusative lauf

Genitive nipjis

Dative daupjond




Section B [50 marks]

(3) The following questions are based on an invented language, Murg. Murg has no definite or indefinite
articles (the or a/an), nor does it differentiate simple from progressive tenses (goes vs. is going). Unlike
English, Murg does not have a fixed word order (thus a sentence like he saw me can appear as me he saw or
saw he me, and mean the same thing each time). Work out the meanings of the sentences, individual words,
and their components by reading carefully and considering the differences between similar forms. The
exercises are built up gradually, so it is best to do them in order.

(a) Study the following sentences

bik delkeg prom. The nurse drinks gin.

darag arnom. The policeman walks.

barag danurak barem. The lady sees the gentleman.
danem dak barrpag. The beggar steals the wallet.

turag bik mosomem. The clerks want gin.

tanurag promem dek. The gentlemen are drinking tea.
parrpag tarak karomem. The beggars address the policemen.
parag kisemem delkek. The ladies request the nurse.
karom durak barrpag. The beggar addresses the clerk.

Give the meaning of:

arnomem telkeg [3]

mosom danurag barak [4]

Translate into Murg:

The policemen see the clerks [4]

The beggars steal wallets [4]




(b) Study the following sentences:
dag damokol.

burikol damag.

kisemem tarag domuk dukol.
balag prom dorokurk bamuk.
bamug dorokar.

parig damakar rabomem.

torok damokurk geremem turag.
danurag barem dorok bamukas.

purikar arkanemem tak parag.

Give the meaning of:

dukar torog

The wallet is on the table.

The snow is on the house.

The policemen request the money on the desk.
The landlord drinks beer from a bottle.

The beer is in the bottle.

The children play in the snow.

The clerks take the bottles from the table.

The gentleman sees a bottle of beer.

The ladies make wallets in the houses.

burikurk gerem barig dak

Translate into Murg:

The child sees snow on the houses

The clerk steals tea from the policeman




(c) Study the following sentences
barrpag tak mem baretod The beggar has seen the wallets
romem barrpak telkeg karotot The nurses will address the beggar

turag makotot memem balakurk bamuk The clerks have demanded beer from the landlord

damak barig rom vakotod The child will enjoy the snow

badakar bik baldiag protod mem The miser has drunk the gin in the room
dug darakas badakar The policeman’s desk is in the room
danurag mem delkek karotod The gentleman has addressed the nurse

parag geretot memem bamuk barrpakas The ladies have taken the beggar’s beer

vakotod mem duk danurag The gentleman has enjoyed the tea.

Give the meaning of:

delkeg damokurk rom danetod [4]

memem protot paldiag bamuk [4]

Translate into Murg:

The policeman has seen the miser’s room [5]

The ladies will walk from the house (4]




Section C [25 marks]
)
In traditional English grammar, sentences like the following are held to be incorrect:
Rushing to catch the bus, Bob’s ice cream fell out of his hand
Flying south for the winter, I saw a flock of swallows
Contrast sentences which would be held to be correct:
Rushing to catch the bus, Bob dropped his ice-cream
Scanning the skies with my binoculars, I saw a flock of swallows

Mark a tick (V) if the sentences below correspond to the rule as given above and a cross (X) if they do not in
the table below:

a | Hopping briskly through the vegetable garden, John saw a toad.
b | He lay looking up at the clouds.

¢ | Whistling to himself, he walked down the road.

d | To be really filling, you could add some boiled potatoes to the salad.
e | Gently warmed in the oven, my friends loved the bagels.

f | Dropping the gun, she put her hands in the air.

g | Biting his victim, the vampire was startled by the hunter.

h | Putting on his coat, he left the house.

i | He whispered, thinking his brother was still asleep.

j | Wishing I could sing, the high notes seemed to taunt me.

k | Without missing a beat, he supplied the punchline.

1 | She crept into the room, hoping to avoid detection.

m | Lacking a roof, we were unimpressed by the house

n | Avoiding the question, the politician sat back down.




(i1) In English, two clauses can be linked using a relative pronoun (such as which, who, whom or that). There
is a difference between two types of link in this type of clause illustrated by the following pairs of examples:

Type A

The Rhine, which flows through Germany, is a highly polluted river.

The man, who was very insistent, spat when he talked.

Type B

The part of the Rhine which is in Germany is more polluted than the part which is in Holland.
The man whom I saw crossing the road is a Latin teacher.

Put an A or a B in the box by each of these sentences to show which sentence belongs to which type. Note that
punctuation has not been provided.

My father who had always controlled my life took my actions for granted

The building company that erects fine houses will make a profit.

Candy which is a sweet is irresistible to children.

The general public who don’t always do what is good for them consume too much red meat.

Food which contains chocolate is dangerous for dogs.

Cars which are always major purchases can rapidly lose their value after an accident.

People who are under the age of 18 may not smoke.

=]

Birds which have feathered wings stretch them out to keep cool.

—

Dogs which have been abandoned can be adopted from animal shelters.

Fair labour practices which look good on paper may be hard for a consumer to observe when

shopping.

Socrates who was condemned to death taught philosophy in Athens.

End of CLAT paper
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